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1. Mount Washington in Pittsburgh, Pennsyivanid giQes \,afou"a spectacular view of the citys A trolley .
car takes tourists along the track up and down the mountain. The total distance of the trip is
- about 1600 feet. The distance can be graphed as a function of time. é‘@ % &

a The y-intercept is(0, 1600) Wha‘r does this
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d. Estimate the distance the car will be away . _
from its destinationafter 4 minutes. iﬁzQ*’&é’@} Time (minutes)
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2. Wm?e ordered pairs for the y- m’rer‘cep’rs of all three lines.
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Linear Equations 11

Graph the equation

What is the m?
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L R What is the b?: .

B. The school store sells binders for $4.00 each and pens for $2.00 each. The equation in standard |
form is 4x+ 2y = 20. It describes the number of binders xand pens y that you can buy for $20. |

a. Complete the table Yo show the Binders | Peng 15\ T ' _
combinations of binders and pens that (X) ) S ‘
can be bought for $20. . i \ ‘
b. Explain why it does not maké sense to 1 8 g I
. find the number of pens you can buy 2 b 14 \
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c. Graph this relationship. Number of binders

d. What i the ordered pair for the y-intercept> What does this point mean for the situation?
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e. What is the ordered pair for the x-intercept? What does this point mean for the situation?




